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‘ COMPUTER SCIENCE AND APPLICATION
( Theory )

Full Marks : 70
- Time : 3 hours

The figures in the margin indicate full marks for the questions

1. Answer the follow1ng questlons : 1x8=8
o] PR Bed firan

’

(a) What is a device driver?
Device driver &2

(b) Why are link-time or linker error messages displayed?
Link-time 3 linker error message™R &7 enffe =g .

(c) Why is the conditienal control structure used? .
Conditional control structure % 3971 I W ?

(d) Name two functions that are used to generate random
numbers.

Random number’lfg generate N IR JRE @A 2{3!
function-3 I &4y |

(¢) How is a function declaration d1fferent from a function
definition?

Function declaration 9% function definition <Bre®
- eI o9 2
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(9)

(h)

2. Answer any ten questions from the following :
oo R I Wbt 2req e i

(@)

(b)
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(2)

What is meant by scope?

Scope Jfeica R 3@ 2 |
What is the data type of elements of an array called?
Array <5 elemented data type-¥ & 3l (I =W ?

How is a two-dimensional array defined?

fR-wflre et <1 Ry define T =W ?

Why is analytical engine often called the pioneer
computer?

’Analytlcal engine-3 4 ZHN p1oneer computer iﬁi (SaE

3 ?

How is a compiler different from an interpreter?
Compiler €51 f¥e1a interpreter @HrelF 3% ?

Convert the hexadecimal number 9F2,¢ to binary.

-Hexadecimal number 9F2;4 F (7® RYLA FlI F1 |-

State two differences bétween CISC and: RISC
computers.

CISC =% MSC@WW@ of12f< Teard <+ |

What is the result of the following expressions, given
that a =10, b=157 |

a =10 9% b =15 fi e wom AP Forea R 237

(i) (a++)*(++Db)

(ii) (++ a)*(++ b)

(iii) 50/ a*b

(iv) b%a ++

( Continued )
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(9)

(h

0)

(3)
Write the uses of endl and setw().

end] 9F setw( )-3 ITIPR fod |

What is syntax? What are syntax errors?
Syntax & ? Syntax @bz & &2

-What is meant by modular approach to programming?

What is the advantage of modular programming?
Programming-§ modular approach 3Ifia & Iwm?
Modular programming-3 jR4t & 2

What are prologues? How can prologues be given in .
C++?

Prologue g & f¥ 2 C++-8 prologuestz Feits fiq ik 2

Convert the following if-else statement to a single
conditional statement :

- wo if-else Sf&ChI @bl 3@ conditional SfREta @R 41

(k)

U
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if (x >=200)
Yy=2+50;
else

y=z

When is a default argument value used inside a
function? When are the default values specified?

Function 96r® default argument STz Ffa IR =2
Default IR ¥ specify 1 = ?

Distinguish between the following functions :
1 function3zs NIe #{1e3 weefan
putchar() and / WF puts()
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(4)
(m) Write the output of the following program :
SI 2ACEAVCHIN ForF F 207 oy
#include <iostream.h>
void main() -

int a[4],i

for (i = 0; i<4; 1++)
ali] = 5*i;

for (i = 0; i <4; i++)
cout<<a .[i];

3. Answer any nine questions from the following :  3x9=27 .

o R I 7ot oms e i

(a) Why is binary language often termed as machine
language? Why is machine language required?  2+1=3

(7e ST A1y 7 SN I w1 =W 2 97 ©m By e 2

(b) Define the following terms : A ‘ : 1x3=3
oY termd TR 31 39 '
(i) cylinder
(ii) tracks
(iii) sectors

(c) Distinguish between unary, blnary and ternary

operators. Give examples of C++ operators for each one
of them. _ : 1x3=3

Unary, binary % ternary operatoriyRd WEF {1
weefiwl | AfSCBR AMCa C++ operatorsEy Swae i |
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(5)-

(d) What output will the following code fragment produce

for the inputs given below? Give reasons. - 1x3=3
T S 49T 1 R TR (TR W TS A inputShRd A 2
199 iR o |

int val, res, n = 1200;

cin>>val;

res = n+val> 1850 ? 600 : 300;

cout<<res;

(i) If the input is 1900
I input 1900 7§

(i) If the input' is 1100:
I input 1100 =8

(iii) If the input is 750
I input 750 =

(e) Write a C++ program to take three numbers from the
user and to find and print the largest number. 3

IR o R s o IR BRSLE wrew SR AR
WEWW@?ICHMWI |

() Write the guidelines that should be followed while
dealing with identifiers. 3

Identifierzg #1® deal FACe RER -Fa w791 o
T forst | |

(9) .Why is a loop used? Define the two types of loops.
, 1+1+1=3

Loop @WWW@?ﬁﬁﬁloopﬂs{@?ﬂWI
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(6 ).

(h) Consider the followmg code fragment and rewnte this
code without using break and contmue 3
w4 98 code-(3l RaoMl IR break W contipue EicEh
AT code-(BT % o |

int line = O;
char ch;

cin >>ch; :
while (ch! = ‘&)
{

cin>>ch;
if (ch = = ‘Q)
break; .
if (ch! = \n’)
continue;
line++;
}

(i) Write a C++ program to calculate the factorial of a -
positive integer. 3

YIS oX9 YT GO factorial SRRRR AT @Bt C++ ey forar |

() Write a C++ program that reads two strings and
appends the first string to the second. 3

W string “fits RO string-GR @S first  string-
append FRIA @B C++ 2¢ay o1 |

(k) Find and correct the errors in the following program : 3
SO SRS 41§ R Sfereqy o wm 9

#include <iostream.h >

void main()

{
char str [20};
cout << “Enter the string:”;
gets (str);

len = strlen (str);
cout << “The length of the string is:"<<len;
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(7))

() Illustrate the use of #define in C++ to define amacro. 3
Macro 95! define W T C++-S #define-3- 37799 Ry
AR 90
4, Answer any three questions from the following : 5x3=15
oo R e bt e Taw i
(@) What is an integer constant? Write integer constant -
forming rule of C++. Explain the three types of integer
constants allowed in C++. 1+1+3=5
Y9 FIF <51 57 C++-7 49 £7F 5107 FI Fim o1 C++-©
! ORI BIe & W 40|
(b) Explain the uses of the C++ shorthands (+=, —=, *=,
/=, %=). 1x5=5
C++ shorthand g (+=, —=, *=, /=, %=)-3 IJAYFHR IR -
Sal '
(c) Write the funétions of the following header files : 1x5=5
©eq header ﬁleﬂw Wﬁm
(i) ctype.h -
(ii) math.h
- (ii) string.h
(iv) stdio.h
(v) stdlib.h
" (d) Write a C++ program to count number of words
present in a line. 5
IR GBTE XT XS Y] SV PR T b1 C++ e o
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(8)

(e). Define a structure variable called vehicle. Assign -its
part number as “RSMO005”, its price as 573 and the
- quantity needed as 5. Then read in the three members
for the second part. Do not assign any values to the
third part. o
- Vehicle 999 @01 structure variable define %11 R *Ii
- 959 “RSMO005”, T 573 Wi iy Rk« 5 e I
fAfEFe 3911 B 69 A7 9} BN membersz read 911
PO {163 I @It W FBFIe IR_I e |

L& & 1

A}

C7—5000/44 | 17 E—CSCA



